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( Addition and Subtraction
3 = Addition (1)

Hundreds| Tens | Ones

Line up the numbers vertically in

‘Hundreds‘ Tens ‘Ones‘ each place.

4 8

—w[3&n]5 Calculate 482 + |64 by using the algorithm.

Calculation of the ones place

+|6

‘

00

Hundreds| Tens | Ones

[O)

4

%% + 1164
01416

0]
[To0] [10]
Moo | [ []
[oo] | 0] [] H
[oo] | O] [0]
[10]
<l [
0 [
o [
[o] o] O
[1o] ]
ool ] 0
ool ] 0
ool ] 0
[oo] [Too]f [T [mjn

2+4=6
Write a 6 in the ones place.

Calculation of the tens place

8+ 6= 1l4
Regroup | to the hundreds
‘Hundreds‘ Tens ‘Ones‘ place_

Calculation of the hundreds place

The regrouped | and 4 make 5.

5+ 1 =6

Write a 6 in the hundreds place.

482 + 164 = 646

Calculate the following addition problems by using the algorithm.

Hundreds| Tens | Ones

‘Hundreds‘ Tens ‘ Ones ‘

Hundreds| Tens | Ones

‘Hundreds‘ Tens ‘ Ones ‘

IS B R [ = :
37 4 |l 547 B8
+26 1 iy +282 |aas
294 + 354 422 + 194 462 + 275 563 + 162
785 + 132 672 + 234 567 + 352 121 + 582
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Addition and Subtraction )
3 = 2 Addition (2)

= [3&) [ Calculate 327 + 376 by using the algorithm.

Line up the numbers vertically in
Hundreds| Tens | Ones each place_

Calculation of the ones place

3 2 7 [ 7+6=13
+ 3 ‘7 é f Regroup | in the tens place.

3 7 Calculation of the tens place

il The regrouped | and 2 make 3.
'v 3+7=10

Hundreds) Tens | Ones Regroup | to the hundreds

place.

<
-1

| +3+3=7 = |

+ 3
7

e =0p) Calculation of the hundreds place

The regrouped | and 3 make 4.
b+ 3=17

327 + 376 = 703

olars -
(@

Calculate the following addition problems by using the algorithm.

Hundreds| Tens | Ones Hundreds| Tens | Ones
-4 2 5@ -3 7 6
| 7 7 + 4 2 5
637 + 269 584 + 238 197 + 378 463 + 238
328 + 495 719 + 185 449 + 153 635 + 197

20
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( Addition and Subtraction
3 3 Addition (3)
\,

~[3€1]d5 Calculate 365 + 987 by using the algorithm.

Line up the numbers vertically in each place.

e s |Hundreds| Tens | Ones
- Calculation of the ones place
3 6 _
) 5+ 7=12
+ 78 Regroup | in the tens place.
Write a 2 in the ones place.
.’ Calculation of the tens place
T e e The regrouped | and 6 make 7.
3|6/ | 7+8=10
+ 98 7M Regroup | to the hundreds place.
2 Write a 5 in the tens place.
.v Calculation of the hundreds place

The regrouped | and 3 make 4.

Tmu‘sm’srun feds| Tens | Ones 4 + q _ |3
316 5
———1+3+9-00) Regroup | to the one thousands place.
—— 1 +3+9=00
+ J 915 7~ Write a 3 in the hundreds place.
[J 5 2 Write a | in the one thousands place.

365 + 957 = 1352

Calculate the following addition problems by using the algorithm.

One One
Thousands |Hundreds| Tens | Ones Thousands |Undreds| Tens | Ones

B D g | 4 D
465 738

176" 4 o8

237 + 974 693 + 869 324 + 796 567 + 765
842 + 268 789 + 345 456 + 567 678 + 789
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Addition and Subtraction
3-4 :
Addition (4)
w35 Calculate 3864 + 4567 by using the algorithm.
5% Trmgol] Tons [Ones Line up the numbers vertically in each place.
= Calculation of the ones place
31816 b+ 7= 1
o) =
+ 4 b 6 Regroup | in the tens place.
Write a | in the ones place.
.v Calculation of the tens place
5 Tntes] Tons [Ones The regrouped | and 6 make 7.
<= 7+ 6=13
3 8|6|4 Regroup | to the hundreds place.
+ 4 5|6 7 LEeres @3] Write a 3 in the tens place.
| Calculation of the hundreds place
The regrouped | and 8 make 9.
e 9+5= 4
| Tons | Ones Regroup | to the one thousands place.
D Write a 4 in the hundreds place.
1 +3+4=8'3[|8| 6 4 :
+ 456 ?ﬂ +8+5=00) Calculation of the one thousands place
= The regrouped | and 3 make 4.
3 | b+ 4 =8
t Write a 8 in the one thousands place.
3864 + 4567 = 843

Calculate the following addition problems by using the algorithm.

2575 + 1698
4567 + 2684

One
Thou

sands

Hundreds| Tens | Ones

1483 + 3737
7531 + 1789

One
Thousands|HUndreds| Tens | Ones

6
+ | 87 5

éQle
8

5368 + 1936
3642 + 2578

22
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( Addition and Subtraction )
3 - 5 i
Subtraction (I)
_ )

== [3€5 Calculate 315 — 194 by using the algorithm.

Line up the numbers vertically in
Hundreds| Tens | Ones eaCh place.

Calculation of the ones place
b—4 =]
Calculation of the tens place
You cannot take 9 from |, so
you need to regroup from the

hundreds place.
|l —9 =2

Hundreds| Tens | Ones

i Write a 2 in the tens place.

221-0 8\ Calculation of the hundreds place

| \1\5 Si d,itb 2

ince you regrouped, it became 2.
TL74 2 =1 = %%

21

Write an | in the hundreds place.

S 315 — 194 = (2]

Calculate the following subtraction problems by using the algorithm.

Hundreds| Tens | Ones Hundreds| Tens | Ones
2 12 | 8 i |
32 0/ 9 1 4/
- [ 83 - 3272
628 — 273 765 — 47| 727 — 196 825 — 263
537 — 376 468 — 28| 813 — 642 567 — 186

23




3-¢

Addition and Subtraction

Subtraction (2)

Hundreds| Tens | Ones

14

Hundreds| Tens | Ones

2
NYAN

|

|

= [3& 5 Calculate 314 — |28 by using the algorithm.

Line up the numbers vertically in each
place.

Calculation of the ones place

N 10-2=0

Hundreds| Tens | Ones

=03\ %
8

Regroup from the tens place.
|14 —8 =26

Write a 6 in the ones place.

Calculation of the tens place

Since you regrouped, it became O.

Regroup from the hundreds place.
10 —2=28

Write a 8 in the hundreds place.

Calculation of the hundreds place

Since you regrouped, it became 2.
2—1=1
Write a | in the hundreds place.

314 — 128 = 186

Calculate the following subtraction problems by using the algorithm.

Hundreds| Tens | Ones

3 4

R

758 — 179
321 — 123

814 — 475
543 — 345

Hundreds| Tens | Ones

= 5 12 12
6 3 2/@E=
-377"°

935 — 289 632 — 385

765 — 567 987 — 789
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Addition and Subtraction
3 7 Subtraction (3)

= [3€i5 Calculate 405 — 156 by using the algorithm.

e T e Line up the numbers vertically in each
3y
Q_ place.
15—-6
A0 Calculation of the ones place
- | 5 Since you cannot regroup from the tens
place, you can regroup from the hundreds
& place.
ik T Snee Regroup |0 tens in the tens place.
\Z\ g 5 Then regroup 10 ones in the ones place.
15 —6=49
- 1156 (o
- Calculation of the tens place
9 Since you regrouped, it became 9.
O 9-5=4
fnfel Tons [Ones Calculation of the hundreds place
Ny Since you regrouped, it became 3.
G--9-% Q. 5. tped, itbe
- 1156

Calculate the following subtraction problems by using the algorithm.

Hundreds| Tens | Ones Hundreds| Tens | Ones
; q |7 ; ) |2
G=2n? 1 |

603 — 306 704 — 407 805 — 508 706 — 609
907 — 709 806 — 608 705 — 507 604 — 406

25
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Addition and Subtraction
3 8 Subtraction (4)

< [F€ 5 Calculate 1000 — 347 by using the algorithm.

o Jiundets] Tors | Ones Line up the numbers vertically in each place.
o e | 10 Calculation of the ones place
ANV & 0-7=0 Since you cannot regroup from the tens place
— 3 417 and hundreds place, you can regroup from the
A one thousands place.
& Regroup |0 hundreds in the hundreds place.
i Hintes| Tens | Ones Then regroup 10 tens in the tens place.
o val 10 Then regroup |10 ones in the ones place.
KOO8 0-7=3
— 3147 Calculation of the tens place
3 Since you regrouped, it became 9.
9—-—4=5
. HM.T' o Calculation of the hundreds place
"""""" 919 Since you regrouped, it became 9.
SR TG 10 9_3=¢
ANISTSN :
+ 34 7ﬁ 9 -3=0) Calculation of the one thousands place
|:6;| £ 3 Since you regrouped, it became O.

1000 — 347 = 653

Calculate the following subtraction problems by using the algorithm.

One
Thousands|Hundreds| Tens | Ones

00 il
58"

One
Thousands|Hundreds| Tens | Ones

*0

2

é

0‘105@
\'IOBQ

1000 — 515 1000 — 716 1000 — 687
1000 — 387 1000 — 195 1000 — 934
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W JICA_34_ZF5_P012-031. indd 26 $ 2022/02/25 12:37:53(




W JICA_34_ZAF5_P012-031. indd 27 :i:: 2022/02/25 12:37:54(

[ Addition and Subtraction A
3-9 -
Subtraction (5)
. J
—» 35 Calculate 5102 — 4398 by using the algorithm.
ow_THunets] Tens | Ones Line up the numbers vertically in each place.
q
oo | 12 Calculation of the ones place
SIRNISY X@ Since you cannot regroup from the tens place,
- 4 3918 you can regroup from the hundreds place.
5 Regroup 10 tens in the tens place.
Then regroup |0 ones in the ones place.
o H# o 12— 8 =4
21, Calculation of the tens place
Since you regrouped, it became 9.
5\*\&Aﬁqw=© 9—-9=0
- 4 3 9 3 Write a O in the tens place.
@] 4 Calculation of the hundreds place
Since you regrouped, it became 0. Therefore,
! HM.T' — you need to regroup from the one thousands
""""""""" place.
° 2 0 —3 =17

=0-3-0) Calculation of the one thousands place

~Nore
74
O|-0| P #e
DS

+ 3 3 Since you regrouped, it became 4.
4 —4 =0
4 Because it is 0, you do not need to write a 0.

5102 — 4398 = 704

Calculate the following subtraction problems by using the algorithm.

One
Thousandgs|Undreds| Tens | Ones

-

20 2

62
5478

One
Thousands

Hundreds| Tens | Ones

(=57

3406 — 2747 5105 — 4736 4201 — 3697
7205 — 6897 9204 — 8375 2503 — 1578

27
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Addition and Subtraction
Mental Arithmetic (1)

3 -10

< [2€];5  Calculate the following in your head.

7
.

48 + 36 = | 84

48 + 36

First, 48 + 30 = 78
Then 78 + 6 = 84

46 — 17 =

29%
46 — 17

First,46 — |0 = 36
Then 36 — 7 = 29

I_I_' Calculate the following addition problems in your head. [ i
21 + 36 = 2l + % |5+ 53 = |5+53
%% 4 + 35 = 31 + 46 =
53 + 36 = a@g |4 + 38 =
47 + 38 = 27 + 67 =
29 + 18 = 47 + 24 =
I_Z_I Calculate the following subtraction problems in your head.
80 — 13 = 85 — |3 6L — 2| =
56 — 45 = 38 — 15 = ®A
.
38— 17= AT 73 — 35 =
4l — 28 = 90 — 65 =
82 — 49 = 94 — 47 =

28
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( Addition and Subtraction A
3 B 1 1 Mental Arithmetic (2)

< [Z€l;2  Calculate the following in your head.

320 + 298 = | 618 1000 — 312 = | 688
320 + 298 = 1000 — 312 =
0] »
Add 21 TSubtractQ & Subtract |l TAdd |
320 + 300 = 620 999 — 312 = 687

Ll_' Calculate the following addition problems in your head.

200 + 298 = 350 + 398 =

%% 240 + 498 = 510 + 199 = %%
330 + 299 = 340 + 399 =
710 + 197 = 140 + 297 =
560 + 397 = 130 + 496 =

LZ_I Calculate the following subtraction problems in your head.

1000 — 322 = 1000 — 354 =
1000 — 682 = 1000 — 528 =
1000 — 456 = 1000 — 672 =
1000 — 582 = 1000 — 264 =
1000 — 878 = 1000 — 798 =

29
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Addition of Three Numbers

Addition and Subtraction
3 -12

386 + 67 + 33 = | 486

< [2€];5 1 Calculate the following in your head.

It is fine that the addition is calculated
in a different order.
First 67 + 33 = 100
Then 386 + 100 = 486

I_I_I Calculate the following addition problems in your head.

475 + 67 + 33 =

296 + 72 + 28 =

573 + 81 + 19 =

358 + 43 + 57 =

one Ty

ssssss

ds| Tens | Ones

36
8
|

3

4

L~ _
\\|+6+3+4—(4

g o o] |3
o
3
;
J

s
3
@
=
@

B3
=
-

_cx’wn

ssssss

S W o
0|3 0\/01 g

s
3
@
=i
@

=
2
=

Ones

ssssss

= [3€;5 2 Calculate the following by using the algorithm.

Line up the numbers vertically in each place.

Calculation of the ones place

5+6+7=18
Regroup | to the tens place.

Calculation of the tens place

The regrouped | and 6 make 7.
7+ 3+ 4= 14

) Regroup | to the hundreds place.

Calculation of the hundreds place

The regrouped | and 3 make 4.
4+8+1 =13

Regroup | to the one thousands place.

—OOOJ“

N WO

5
7)_{|+3+8+|=O®]

7

8

Calculation of the one thousands place

Write the regrouped |.
365 + 836 + 147 = 348

I_Z_' Calculate the following addition problems by using the algorithm.

e s |Hundreds| Tens | Ones e | Hundreds

Tens

One
Ones| (510 | mousancs

Hundreds

Tens

Ones

o | Hundreds

nnnnnnnnn

Tens

Ones

2 67 5
4 4 3 7
+ 6 7 4 + 4

7
6
5

2
|
q9 +

3
4
5

2
6
|

5
6
3

4
3
2

2
8
5

8
7
4
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Addition and Subtraction
3 -13 |
Review

|_1_' Calculate the following addition problems by using the algorithm,

6 2 5 5 6 7
+ 293+ 336+ 456

J
(@)
(0.0)

w
0
O
~
(@)
(@)N
o1
(@)
~
O

+ 926 +2376 +357 2

|_2_' Calculate the following subtraction problems by using the algorithm. %%
6 5 4 9 8 7 6 00
- 456 — 789 - 385
| 0 00 | 0 0 0 35005
- 456 — 298 —285H8
L3_I Calculate the following problems in your head.
45 + 23 = b6 + 38 =
250 + 499 = 74 — 33 =
84 — 49 = 1000 — 257 =

31
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